PIRANHA OFFROAD PRODUCTS P/N BT80D

‘Piranha Off Road products are not associated in any way with Toyota Australia or any of its related companies’

IPARTS INCLUDED WITH TRAYI

1 X Tray

1 X M6 Bolt (Countersunk)
1 X M6 Nut

1 XM6 Body Washer

3 X M8 Bolt Long

1 X M8 Bolt Short

1 X Speciall top Mount

2 X J Bolts

RECOMMENDED ISOLATOR

DBE140SF
or
DBE180-SX

To Suit LANDCRUISER 80 SERIES
1HZD/1HDT/1HDFT TD

APPROVED  [emremremre
FOR SELF FIT

MAX BATT WEIGH

FITTING INSTRUCTIONS

The cradle fits drivers side front.
Bolts to existing capture nuts except one hole that will need drilling.
NOTE: Top mount must be used to ensure no rocking movement in

battery. This tray can be used to replace original
manufacturers cradle on some petrol vehicles.

Ensure, before closing the bonnet that all items fitted have
adequate clearance

Oct 2017

FITTING INSTRUCTIONS

© Automotive Ignition Systems Pty Ltd 2017 BT80D



